G = n ey1 = PLX A9 /A8asug
001 010

€0—-dGS'1 -+ €0-dIv'1 = WJION T T [rTrrr 1 1 1 T [TT 1T 1T T [

co-d0v' vy —+ 10-3d€L1 = [A9N] L N lT ]

10-3902 -+ £0-300°1 = HN - J{leﬁgl ]

21-350'1 = xXnpJ w AT[T |

10-422°1 = 9jed OOQW C_1 1 | I 1 1 | I

A9/ AS1auy A9¥ /ABasuy
001 010 001 010

I_ I ______ I I I _______I [ | I ______ I I I _______I
- - o

— — .VIO.H w.. — -
-

O - —

n - = B |
)]

B _ ~ = B B -

N _ a u | N

- e ] 3 = | e

- - 0 T

— - ¢-01 0

| - B _
< a

B _ < i |

€68vec+1 eyl ¥Il SXde Apqq,wuwred 9600 LEETIE6

—'
|
=1 1 1

s[enpisay

(A®¥ s)/syuno)




